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Run 6245 quartetwise, posHQ: Beam DH

Run 6245 quartetwise, asym0Osub: Beam ON

— Laser ON Entries: 22432 Entries: 23759 gami 1ae poee
— Mean: 11.6400 +- 0.0038 | Mean: 2.6241 +- 0.0016 23759
— Laser OFF Std Dev: 0.5696 +- 0.0027 | Std Dev: 0.2530 +- 0.0012 2.624
— S0 DBV 0.253
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Run 6245 quartetwise, negHO: Beam DIN
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-------- Histogram Vars

Positive Hel (ON): 11.639966 +/- 0.003803
Negative Hel (ON): 11.091610 +/- 0.003637
Positive Hel (OFF): 2.624102 +/- 0.001641
Negative Hel (OFF): 2.622929 +/- 0.001647
-------- Sums and Diffs

On Diff: 0.548355 +/- 0.002875

Off Diff: 0.001173 +/- 0.002078
On Sum: 22.731576 +/- 0.006864

Off Sum: 5.247032 +/- 0.002548
-------- Asymmetries
On Asym: 31.362298 +/- 0.164937 (ppt)
Off Asym: 0.067076 +/- 0.118833 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 17.484544 +/- 0.007321
BkSub Asym: 31.295221 +/- 0.203287 (ppt)
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Run 6245 quartetwise, posHO vs time Run 6245 quartetwise, negHO vs time
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Run 6245 quartetwise, bcm vs time
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